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Energy Gain at 4-4 (MV)
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Sower{MW) SQRT(power)  Energy gain(@delay2651 Energy gain(@delay2600)
30.8 5.54977477 81.92 #N/A
33.2 5.761944116 83.3 #N/A
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349 5.907622195 #N/A 77.56
30.8 5.54977477 #N/A 75.2
32.8 5.727128425 #N/A 76.2
36.7 6.058052492 #N/A 79.25
36.8 6.066300355 85.98 #N/A
CKK003 BEAM ACC TEST 20051025
100 L
90 F
- y = 14.468
- %
S 80 N / -.l
2 70 | i
D P
Y - 0/’ ¢ delay2651
£ 50 | m delay2600
S 40 — {572 (delay2651)
b -
5 30 F
o -
w20 |
10 |
ok
0 1 2 3 4 5 6

SQRT of KLY POWER (MW)™(1/2)




Koy pEl Ay 2650 % 3230 (RiB) A
k-44 @O 12| = 6700 (= Set

we [0 [OF  auto-Es-Bp

wy: [OR [GR[ 00| Auto-RF-ON ' 30 re=3az

ny 10/25-3FCI8 YIR= 1,47 PF<96. 4
: & E?;}E’ e FallCount - i T 9/ 45-10:20 vEWRr 1.5 PEedE. B
‘ 3 HallThne(sec) : 1 : e-07 | 197041903 VY¥Wi= 1.57 1#r=32.8
|  kespTuma(min) 15 |4 3238 LTECO ¥ ceux LR 1a/25-18:00 vome 149 P20
| StepUp(sec) = 300 SOLE 5. Hoe-0?. " . BEs= 3,00

- . - /21928 Triyweon DRSS 3000
-dV({volt) 50 { |

107252118 VowR- 1.31 :RE=34.3

Gnal-E&(kV) 43000 r {3 50a-07 10/28-21:20 voWm= 1.47 FI=2D.6

2005.10.25-21:36: 40} Taking dgata ff PiotSpan: , 10mins & thour .- 8 v Tay
Es: {40, 000 Power: [32. 6 Pf; (37.0 Puz| 0. CvaWR:| 1. 00 FCS:armal Es-max: [43.300  histary |

=
B o
Phe
:#b=
b=
¥he

iPh=
K=

ETET

0.0 Brs=A2.060

0.0 Zxs=43 0801 §
2.4 fRawd2 180
8.8 fEcc4l. 060
0.0 Que~d4l. 080
2.8 gas=d3. 100

4.3 2ma=41.590] ;

0.0 fes=43. 30
ntek.




Himm

'5P_B1

- [ ) I
6500 6600 6700 6800
KL_44

|
7000

File Edit Window

T

10/25/2003 21:47:37 He

thiSquare = .92465 Goodhess = .47768

a = 3.08974 +/- .01873 c = 140.594 +/- .34905 d= .11446 +/- .01328
1 I — T ]
i f’m{a » -
2\ ‘3“ -
e | ¢ _
T | _
Bl O 7]
o
“w ]
-2 - ]
T E S U R
0 100 200 300

Function = (d+(a Cos(. 0174532925 (-18omc+i) b - phase




///L; Yy

625 = L6650 /:‘kw//— )

_Hl/mm
N 3
: ]
@
gy
e—o

SP_61

! |
3000 523 4000
O KL_44_delay

N-ma PELAY 250 P FATO(ZEw

SP_61_H1/mm
1 |

.
n
|
b

30I0 1} 3200
KL_44_delay

i
3400

1
3600

16



[ N S N R T AL

0 -

_Hi/mm
!

SP_61

KL_44 vs. SP_61_H1

- xsp
4 ’ b b -&-ysp

- asp

| | |
6600 6700 6800




8

E fle Edit Window 10/25/2005 22:20:38  Help
ShiSquare = 1.40123 Goodness = .47768
s = 3.14412 +/- 02309 6 = 137,147 +/- .42163 d= .07112 +/- .01634
4 ————— ,
L . 1
i 2 - p—
] - p
. - L J
~ I| - E
5 O d :
o A .
— 7
- [ p
- 2l * _ ‘
| | L aion, A3
; R P R H S R Y S S i
i 0 100 200 300 OD CP—
> Are
; function = (d+(a Cos[(.0174532925 (-180ex+l)4% - phase 7 1 el
‘ fain Application Area B




10/26/2005 16:33:14  Help v I

i ChiSquare = 6.38866 Goodness = 46077

{as= ~. 00744 +/~ 3.33E-4 b = 254.521 +/- 42293 ¢ = 10.5720 +/- 15285

=)
l T

)

1 chiSquare
1 a=-.01

SP_RO 32-x

E =N

Illllllllllllllll

I ] 1 1 1 I ] 1 1 1 l L 1 1 1 I 1 1 1 1 I 1 1 1 1 l 1 1 1 1 l ]

220 230 240 250 260 270 280
KL_BS - phase

Function = {c+{a ({x+{-b))"2)))

{Main Application Area B

» [ 3
8 8 ]
- !

: 3

4

(U l 4 L
—10 ' l | 1 1 ! L] l I .

S5 el



~n.Dn _ . . v r %
Ly ¢ PF (
&P
30 /35 o
32 /73 PELAT 5600
S 20,9
jé 2,5‘5 &< sp”!
35 28 w2 349 oz 54 rder
@Lo 322 y
‘ 5 Y o
Y PO gnaiy
A /32
%3 3P0 ) 4 7L 2 per
} 3¢6.7 79,25 frey
Kly Power(MW) SQRT(power)
30.8 554977477
332 5761944116 .
131 3.619392214 DELAY 2650
345 5873670062 , 3
349 5907622195 b 4z 249 SETe MV J
30.8 5.54977477 e ST
328 5727128425 - $7 v
367 6058052492 a4z FE2 vy
368  6.066300355 - S o m e
31 5567764363 AN H /S - 3.2
128 3577708764 o
AM L 20.2 & 72 MHov
A-Hﬂ 30 2./ T73 rev
100
90 |
g 80
= 70 F
‘l“ -
< 60 [
® -
£ 50 -
m -
S 40 f
% -
s 0
: -
w20 |
10 |
0 -
0 1 2 3 4 5 6 7
SQRT of KLY POWER (MW)"(1/2)

20



